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(A )22.Choose a number from 1 to 9, times (3f€)the number by 3 and plus 3. After that we
times the result by 3 again and gives you another number. What 1s the sum of the
digit in tens place(-Fiz#%) and the digit in ones place({E {7 #57)?
(A)9 (B)12 (O)15 (D) unsure
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(B )23.Right graph is made by 8 identical (f8[E]#Y)squares, what is ZABC?
(A)120° (B)135° (C)150° (D) 165° s
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@a+b=90° .. ZABC=90°+45°=135° » #E B o
(A )24. There are nine cards are labelled (Z=7E)from 1-9. Joe, Bill, and Cathy take three
cards each.
Joe said:  “The product of my cards is 48.”
Bill said:  “The sum of my cards is 15.”
Cathy said  “All my cards are odd numbers(&7-8%), the difference(Z) between the
largest number and the smallest number arranged by three cards in different order 1s
792.” Which is correct?
(A)Joe has the cards with 2,3,8 labelled. (B)Joe has the cards with 2,4,6 labelled.
(C)Bill has the cards with 3,5,7 labelled. (D)Bill has the cards with 3,4,8 labelled.
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HAE12-3-4~5-~6~7~898VSL5RME > Joe ~ Bill ~ Cathy %% 3 1RHE:
Joe &ft: " IRHY 3 SRR AR Ay 48 5
Bill &5 T 3R 3 R ZFIE 155
Cathy &¢: " FREY 3 SRREED T H > BEGR AR = B N=r e =5 792 45
TEIAIE TEAE? (A) Joe BUAE 2~ 3~ 8 (B) Joe HUZE 2 ~ 4 ~ 6(C) Bill HZE 3 ~ 5~ 7(D) Bill
HE3~4-38
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Joe 48=2X3XE=2)X4X6
Cathy HUERITRREAEZ 8 > Big 1 f19
FEAE 135793 5{F > Bill =58F115 > VF 1 RETEL > Cathy H 3 5RE#
cJoe B 1 EEE Bl Joe &2~ 38
Bill ) 4-~5~6 »Cathy; &1 ~7~9 >3 A-

(  C )25. As the graph shown, there are right angle line seements (B 1457 E%)formed by
three straight line inside a square, the length of three straight line 1s 5,6 and 9. Find
the shaded area. (A)45 (B)50 (C)55 (D)60

<>

W& - £ {EIET NS = R Y B A IT4RE: » HRE S H &S5~ 6F19 -

ARz s H A EEARR Ry o (A)45 (B)50 (C)55 (D)60

<fEAT>
EH e (15 +5)+2=125 , jmmen s 2403 [N 9
F12 WL BT LARZRZE0 o7 TR R SO
125+2+2x6+2-3x9+2 =55 y N 5
2|
6

FOH/IFTH



o EHERAERE 25 47 0 250 47

1. EFE—IRE 63 AN ~ H 36 AR FELR
YRR [EB AR/ NNIE A HO2AEFIgR - MBI IE e RR K ES/ VA5 70]5
Al %A1
QFEBIRA B/ NNYIEF T HIEFER - 521 LIBIRE4(E?
<f#HT>
DO 3MAREEL~3~7~9~21 6336 YRE:1~2-3-4~6~9~12~18~36
63 136 By AL ~3~9
BRARHE 9 Aoy
63+9=7 » 36+9=4
Tx4=28 {[&
@ 63-36=27 » 36-27=9 » 27+9=3 » 1+143=5
EOEERAE I N > BJBEAYE 28 {H - @m % EIRL 5 {# -

&

2. B AERAEINEERESR - BEE LS TRFTERETH T %?H%%%ﬁ%ﬂa‘

FE %??%?U% P AR T2 ﬁ?ﬂél%ﬁ(%ﬁﬂ‘ FE %??%@U% 0 GERBESSEE

FE e T —HERR—E—LL » ARIREERIEAE » 0 aBCHRfE?
<fEAT>

R 1=2:1=42

F25=2:1

R FE 2 =4:2:1

. _4 _2 1
S 0 FEf s e

FTH/IFETH





